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FINAL ANSWER KEY

Paper: Indian Penal Code and Criminal Procedure Code ... (Paper 1)
Date of Test 10-11-2022
Question1:-The minimum no. of persons required for an unlawful assembly is
A:-Two
B:-Three
C:-Four
D:-Five

Correct Answer:- Option-D
Question2:-Mensrea means
A:-Guilty mind
B:-Proved fact
C:-Motive of the crime
D:-Wrongful gain
Correct Answer:- Option-A
Question3:-The term life sentence is IPC means
A:-14 years
B:-20 years
C:-10 years
D:-Till death
Correct Answer:- Option-D
Question4:-Which statement is true?
A:-Ignorance of law is an excuse
B:-Ignorance of law is no excuse
C:-Ignorance of fact is no excuse
D:-None of the above
Correct Answer:- Option-B
Question5:-Who was the chairman of the first Law Commission of India constituted in 1834 A.D.
A:-Lord Lyttou
B:-Lord Canning
C:-Lord Macaulay
D:-Lord Mayo
Correct Answer:- Option-C
Question6:-In calculating fractions of terms of life imprisonment shall be reckoned as equivalent to imprisonment for
A:-14 years
B:-10 years
C:-20 years
D:-12 years
Correct Answer:- Option-C
Question7:-Perjury means
A:-As per law
B:-giving false evidence
C:-Order of a court
D:-Member of a jury council
Correct Answer:- Option-B
Question8:-Which statement is not true?
A:-Culpable Homicide is the genus and murder is its species
B:-All murders are Culpable Homicides and all culpable homicides are not murders
C:-All Culpable Homicides are murders and all murders are not culpable Homicides
D:-None of the above
Correct Answer:- Option-C
Question9:-Act of a child under the age of seven
A:-is not an offence
B:-is an offence under Juvenile Justice (care and protection of children) Act 2015
C:-is an offence under POSCO Act
D:-at the discretionary powers of the court
Correct Answer:- Option-A
Question10:-A mentally ill person 'X' attempts to kill Y. In order to save his life Y-threw a stone towards X and he was severely injured. In this case
A:-The mentally ill person X is liable
B:-Y- committed an offence
C:-Both X and Y committed offence
D:-Both X and Y not committed any offence
Correct Answer:- Option-D
Question11:-Maximum limit for solitary confinement under section 73 of IPC is
A:-3 months
B:-2 weeks
C:-1 month
D:-1 week
Correct Answer:- Option-A
Question12:-X instigates Y to murder Z. Y refuses to do so. Here X is guilty of
A:-Murder
B:-Abetting Y to commit murder
C:-Attempt to murder
D:-None of the above
Correct Answer:- Option-B
Question13:-Use of violence by members of an unlawful assembly constitute
A:-Affray
B:-Assault
C:-Felony
D:-Rioting
Correct Answer:- Option-D
Question14:-P - intentionally puts jewels into a box of Q - as a result that Q - may be convicted for the offence of theft. 'P' has committed
A:-Criminal conspiracy
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B:-Fabricating false evidence
C:-Abatement
D:-None of the above
Correct Answer:- Option-B
Question15:-Culpable Homicide is not murder if it is committed under
A:-self intoxication
B:-by a group of more than five persons
C:-Grave and sudden provocation
D:-None of the above
Correct Answer:- Option-C
Question16:-A give poisonous milk to B with intention to cause his death. But B came to know the fact that milk is poisonous and gives the milk to
the minor child of A and the child dies. In this case.
A:-Only A has committed the offence of murder
B:-Only B has committed the offence of murder
C:-Both 1 and 2 committed the offence of murder
D:-A is accused of attempt to murder and B is accused of murder
Correct Answer:- Option-D
Question17:-In kidnapping, consent of minor is
A:-Wholly immaterial
B:-Material
C:-Partly material
D:-None of the above
Correct Answer:- Option-A
Question18:-Dowry death is defined in the IPC section
A:-301
B:-303
C:-304(B)
D:-305
Correct Answer:- Option-C
Question19:-How many types of kidnapping under IPC?
A:-One
B:-Two
C:-Three
D:-Five
Correct Answer:- Option-B
Question20:-Theft is an offence related to
A:-Immovable property only
B:-Movable property only
C:-Both movable and immovable property
D:-None of the above
Correct Answer:- Option-B
Question21:-Robery is an aggravated form of
A:-Thefts only
B:-Extortion only
C:-Theft or Extortion
D:-None of the above
Correct Answer:- Option-C
Question22:-Find the odd
A:-Robbery
B:-Dacoity
C:-Unlawful assembles
D:-Riot
Correct Answer:- Option-A
Question23:-Voluntarily causing grievous hurtby use of acid etc comes under the section
A:-328 IPE
B:-327
C:-326
D:-326 A
Correct Answer:- Option-D
Question24:-An accused commits culpable Homicide by causing death of person other than person whose death was intended is liable for
A:-Culpable homicide not amounting to murder
B:-Attempt to murder
C:-Murder
D:-No offence
Correct Answer:- Option-C
Question25:-In cases of kidnapping and abduction the right of private defence extends voluntarily causing
A:-any harm other than death and grievous hurt
B:-any harm other than death
C:-any harm including death
D:-none of the above
Correct Answer:- Option-C
Question26:-The maxim "deminimus non curat lex" means
A:-Law could not take action on small and triftling matters
B:-Law does not ignore any act
C:-Small and serious offences are same effect before law
D:-None of the above
Correct Answer:- Option-A
Question27:-The doctrine 'Volentinon fit injuria’ is contained in IPC
A:-Section 87
B:-Section 88
C:-Section 89
D:-All the above
Correct Answer:- Option-D
Question28:-Section 84 of IPC provides for
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A:-Medical insanity
B:-Legal insanity
C:-Moral insanity
D:-Mental disability of any kind
Correct Answer:- Option-B
Question29:-Which of the following statements is correct?
A:-In active euthanasia, something is done to end the patient's life
B:-In passive euthanasia something is not done that would have preserved the patient's life
C:-Both 1 and 2 are correct
D:-1 and 2 are incorrect
Correct Answer:- Option-C
Question30:-Complaint is an
A:-An allegation oral or written to the police
B:-An allegation oral or written to the magistrate
C:-All of the above
D:-None of the above
Correct Answer:- Option-B
Question31:-Inquiry is conducted by
A:-Magistrate or court
B:-Police officer
C:-Both 1 and 2
D:-None of the above
Correct Answer:- Option-A
Question32:-To appoint as public prosecutor/AddlI. Public Prosecutor an advocate has been in practice for not less than
A:-10 years
B:-8 years
C:-3 years
D:-7 years
Correct Answer:- Option-D
Question33:-Under which section of the criminal procedure code, Victim Compensation Scheme is incorporated
A:-357 A
B:-356
C:-360
D:-361
Correct Answer:- Option-A
Question34:-Maximum fine amount a Judicial First Class Judicial Magistrate can impose
A:-Rs. 5,000/-
B:-Rs. 3,000/-
C:-Rs. 8,000/-
D:-Rs. 10,000/-
Correct Answer:- Option-D
Question35:-Security for keeping peace on conviction is provide in CrPC section
A:-106
B:-120
C:-122
D:-121
Correct Answer:- Option-A
Question36:-Recording of confessions and statements under section 164 of the Crl.P.C. can be done by
A:-Any metropolitan or Judicial magistrate with Jurisdiction only
B:-Any metropolitan or Judicial Magistrate whether he has jurisdiction or not
C:-Any Executive Magistrate
D:-Any police officer not below the rank of a SHO
Correct Answer:- Option-B
Question37:-Anticipatory bail can be ordered by
A:-High Court
B:-Sessions Court
C:-CJM Court
D:-Both 1 and 2
Correct Answer:- Option-D
Question38:-Section 162 of the Code of Criminal Procedure code 1973 is for safeguarding the
A:-Accused
B:-Witness
C:-Public
D:-Police
Correct Answer:- Option-A
Question39:-Which of the following is true An accused person?
A:-shall not be a competent witness for the defenec
B:-shall be a competent witness for the defence
C:-only in bailable offences
D:-none of the above
Correct Answer:- Option-B
Question40:-Compounding of an offence will have the effect on
A:-Acquittal
B:-Conviction
C:-Suspension of sentence
D:-None of the above
Correct Answer:- Option-A
Question41:-The doctrine of 'Autrefois acquit and actrefois convict' is related to which section of Crl.P.C.
A:-301
B:-302
C:-300
D:-311
Correct Answer:- Option-C
Question42:-Maximum sentence in summary trial is
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A:-6 months
B:-3months
C:-1 year
D:-2 years
Correct Answer:- Option-B
Question43:-The death sentence awarded by sessions court is to be confirmed by
A:-Governor of the State
B:-The appropriate Government
C:-High Court
D:-The President of India
Correct Answer:- Option-C
Question44:-Plea bargaining does not apply in such offence which affects
A:-The socio economic conditions of the country
B:-Has been committed against a woman
C:-Child below the age of 14 years
D:-All the above
Correct Answer:- Option-D
Question45:-A private person may arrest a person without a warrant
A:-Any person who in his presence commits a non-bailable and cognizable offence
B:-Any proclaimed offender
C:-Both 1 and 2
D:-A private person cannot arrest
Correct Answer:- Option-C
Question46:-U/s 206 of Crl.P.C., issuing special summons in case of petty offence is described. For the purpose of this section petty offence means
any offence punishable only with fine not exceeding
A:-Rs. 500/-
B:-Rs. 1,000/-
C:-Rs. 2,000/-
D:-Rs. 3,000/-
Correct Answer:- Option-B
Question47:-On execution of sentence, the warrant will
A:-Distroy after 3 years
B:-To be kept in the prison
C:-Return to the police station concerned
D:-Return to the court which issued the warrant
Correct Answer:- Option-D
Question48:-Under Section 436-A, maximum period for which an under trial prisoner can be detained is
A:-Upto one half of the maximum period of imprisonment specified for that offence
B:-Upto 1/3 of the sentence specified for that offence
C:-Upto the maximum period of sentence specified for that offence
D:-At the discretion of the sentencing court
Correct Answer:- Option-A
Question49:-Format of black warrant is in
A:-Form No. 45 of the second schedule
B:-Form No. 42 of the second schedule
C:-Form No. 43 of the second Schedule
D:-None of the above
Correct Answer:- Option-B
Question50:-How many offences of same kind within year may be charged together?
A:-5
B:-2
C:-3
D:-No limit
Correct Answer:- Option-C
Question51:-Provision for order to release on probation of good conduct or after admonition under CrPC is
A:-366
B:-360
C:-300
D:-None of the above
Correct Answer:- Option-B
Question52:-Power of Court to examine the accused is mentioned in the Crl.P.C. under section
A:-310
B:-311
C:-312
D:-313
Correct Answer:- Option-D
Question53:-Examination of Person accused of rape by medical practitioner is provided in
A:-53-A
B:-52
C:-53
D:-51
Correct Answer:- Option-A
Question54:-A divorced wife is entitled to maintenance from her husband till
A:-She re-marries
B:-She become self reliant
C:-Her children become major
D:-Her death
Correct Answer:- Option-A
Question55:-Adolescent offender means as per Kerala prisons and correctional (management) service Act 2010.
A:-An offender below the age of 18 years
B:-An offender above the age of 21 years
C:-An offender above the age of 18 years and below the age of 21
D:-An offender below the age of 30 years
Correct Answer:- Option-C
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Question56:-Who is the Chief discipline officer of a prison?
A:-Supdt.
B:-Joint Supdt. (Discipline)
C:-Dy. Supdt. (Discipline)
D:-Prison officer
Correct Answer:- Option-A
Question57:-Who is the Chief executive officer of a central prison?
A:-Supdt.
B:-Joint Supdt.
C:-Deputy Supdt.
D:-Prison officer
Correct Answer:- Option-B
Question58:-Male Asst. prison officer establishment consists of
A:-Prison officer and Gate keeper
B:-Dy. Prison Officer
C:-Asst. Prison Officer
D:-All the above
Correct Answer:- Option-D
Question59:-In Central Prison, who is incharge of Bell of Arms
A:-Gale keeper
B:-Dy. Supdt
C:-Prison officer
D:-Dy. Prison officer
Correct Answer:- Option-C
Question60:-The duty time of Gate keeper in Central prisons and District prisons
A:-8 AM to 4 PM
B:-6 AM to 12 Noon
C:-10 AM to 5.00 PM
D:-Unlock to Lock up
Correct Answer:- Option-D
Question61:-In ordinary case, which jail officer and above are excempted from search in the gate
A:-Supdt. only
B:-Asst. Supdt and above
C:-Dy. Prison officer and above
D:-Dy. Supdt and above
Correct Answer:- Option-C
Question62:-Who is the authority to sanction good conduct allowance to Dy. Prison officer and Prison officer?
A:-D.I.G of Prisons
B:-Supdt.
C:-Joint Supdt.
D:-Accounts officer
Correct Answer:- Option-A
Question63:-Which officer is responsible for arranging free legal aid to poor prisoner?
A:-Joint Supdt
B:-Welfare officer
C:-Prison officer
D:-Supdt.
Correct Answer:- Option-B
Question64:-In addition to remand prisoners convict prisoners up to months can be admittted in District prison.
A:-6 months
B:-3 months
C:-8 months
D:-12 months
Correct Answer:- Option-A
Question65:-Children up to the age of years may be accommodated with their mother in prison
A:-3 years
B:-5 years
C:-1 year
D:-6 years
Correct Answer:- Option-D
Question66:-Total no. of days a prisoner can avail as ordinary leave in a calendar year is
A:-15 days
B:-30 days
C:-60 days
D:-90 days
Correct Answer:- Option-C
Question67:-First ordinary leave of a prisoner shall be sanctioned by
A:-Director General of prisons and correctional services
B:-D.1.G. of prisons
C:-Supdt.
D:-Chief Welfare Officer
Correct Answer:- Option-A
Question68:-Minimum floor area and breathing space respectively to be given to a prisoner is
A:-"4.72m"(2) , 27 m™(2)°
B:-5.27 ,17
C:-3.72, 17
D:-8.27, 19
Correct Answer:- Option-C
Question69:-Quantity of mutton allowed to a prisoner in a week is
A:-70 gm
B:-150 gm
C:-120 gm
D:-100 gm
Correct Answer:- Option-D
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Question70:-In any case no. of convict supervisors shall not be exceeded of the total prison population.
A:-6%
B:-10%
C:-5%
D:-7%
Correct Answer:- Option-B
Question71:-As per the Kerala Prisons and Correctional Services (Management) Act 2010, State Institute of correctional Administration shall be
headed by a director, who is not below the rank of
A:-D.I.G. of Prisons
B:-Supdt. of Central Prisons
C:-Joint Supdt.
D:-Dy. Supdt
Correct Answer:- Option-B
Question72:-Establishment of prisoners welfare fund is provided under section of Kerala prisons and correctional services (mgt) Act 2010
A:-82
B:-96
C:-85
D:-70
Correct Answer:- Option-D
Question73:-Jail officials are eligible to have a discount of percentages while purchasing Jail manufactured products.
A:-10
B:-15
C:-20
D:-25
Correct Answer:- Option-C
Question74:-Expected utility period of a shirt allotted to a male prisoner is
A:-6 months
B:-4 months
C:-5 months
D:-1 year
Correct Answer:- Option-B
Question75:-Who is the Chairman of Prison Advisory Committee constituted under 463 of the Rules
A:-Head of Prisons Department
B:-District Collector of the District where the prison is situated
C:-District and Sessions Judge of the district where the prise is situated
D:-Chief Welfare officer of the prisons Department
Correct Answer:- Option-A
Question76:-What is the travelling time allowed to a prisoner while on leave, if his/her house is less than 16 km away from the prison?
A:-One day
B:-1/2 day
C:-2 days
D:-No travelling time
Correct Answer:- Option-D
Question77:-Two death convicts A and B with a body weight of 43 kgms and 72 kgms respectively have to be hanged to death on a particular day.
Which of the following statement is true in respect of the length of the rope which is to be used for hanging?
A:-Length of rope used to hang 'A' will be longer than 'B'
B:-B's rope will be longer
C:-Length of both the rope will be same
D:-It is the discretion of the hangman
Correct Answer:- Option-C
Question78:-Special remission allowed to a prisoner for Blood donation is days for every each blood donation.
A:-30
B:-20
C:-10
D:-15
Correct Answer:- Option-D
Question79:-Remuneration for hanging a death convict under prison rate is
A:-Rs. one lakhs
B:-Rs. 50,000/-
C:-Rs. Two lakhs
D:-Rs. 25,000/-
Correct Answer:- Option-C
Question80:-Which of the following statement is correct?
A:-Prisoner working together shall be accommodated in the same room
B:-Prisoners convicted in the same case shall be permitted to work together and also accommodated in the same room
C:-Both 1 and 2 are correct
D:-Both 1 and 2 are incorrect
Correct Answer:- Option-A
Question81:-A group hunger strike in the prison may be considered as
A:-Affray
B:-Prison riot
C:-Assault
D:-None of the above
Correct Answer:- Option-B
Question82:-The service of a medical officer in the prison department shall be considered as service under health department.
A:-Rural
B:-Urban
C:-High range
D:-None of the above
Correct Answer:- Option-A
Question83:-Mental ill person means a person who is in need of treatment by reason of any?
A:-Mental disorder including mental retardation
B:-Mental disorder other than mental retardation
C:-Behavioural disorder
D:-None of the above
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Correct Answer:- Option-B
Question84:-Reception order means
A:-An order to receive the discharged mentally ill person to his relatives
B:-License issued to a Psychiatric hospital by licencing authority to receive mentally ill persons
C:-An order for the admission and detention of a mentally ill person in a psychiatric hospital
D:-None of the above
Correct Answer:- Option-C
Question85:-Which of the following statement is not true?
A:-License issued to a person to start a psychiatric hospital is transferable or heritable
B:-License is mandatory to establish a psychiatric hospital
C:-The license shall not be renewed it the licensee is not in a position to provide a psychiartrist to take charge of the psychiatric hospital
D:-None of the above
Correct Answer:- Option-A
Question86:-Imprisonment for non payment of fine, when offence punishable with fine only shall be
A:-Rigorous
B:-Rigorous or Simple
C:-Simple
D:-At the discretion of the court
Correct Answer:- Option-C
Question87:-Application for plea bargaining may be filed by
A:-Police officer
B:-Prosecutor
C:-Victim
D:-Accused
Correct Answer:- Option-D
Question88:-Prisoners, who are appointed as officers of prison, like convict supervisor shall be deemed to be a within the meaning of the
Indian Penal Code 1860.
A:-Store Attendant
B:-Prison Orderly
C:-Skilled Labour
D:-Public Servant
Correct Answer:- Option-D
Question89:-Which of the following statements is correct?
A:-The medical officer of the prison need not inform the prisoners about the medicines being administered to them
B:-The medical officer shall not administer any medicine to any prisoner without informing him what is being administered
C:-Medical officer need to inform about medicines only to prison officers
D:-None of the above
Correct Answer:- Option-B
Question90:-The Supdt. of Jail shall be competent to grant emergency leave up to a period of days.
A:-5
B:-7
C:-15
D:-10
Correct Answer:- Option-D
Question91:-An offence of cheating which is punishable under section 417 of I.P.C. is compoundable by the person cheated
A:-Without the permission of the Court
B:-With the permission of the Court
C:-Offence under section 417 of IPC is not compoundable
D:-None of the above
Correct Answer:- Option-A
Question92:-When accused plead guilty and has been convicted on such plea
A:-There shall be appeal to higher courts
B:-There' shall be appeal with the permission of the prosection
C:-There shall be no appeal except as to the extent or legality of the sentence
D:-None of the above
Correct Answer:- Option-C
Question93:-An Affray must take only.
A:-Inside house
B:-Public place
C:-Any where
D:-All of the above
Correct Answer:- Option-B
Question94:-Under the Section 482 of CrPC the inherent power vest in
A:-Court of Session
B:-High Court
C:-Chief Judicial Magistrate
D:-All of the above
Correct Answer:- Option-B
Question95:-In-camera trial refers to
A:-Open trial
B:-Summary trial
C:-Trial in front of a camera
D:-Trial to which public and press are not allowed
Correct Answer:- Option-D
Question96:-Before a person can be held liable under section 34 of I.P.C.
A:-A person should have participated in some what manner in that act
B:-There was a common intention
C:-Both 1 and 2
D:-None of the above
Correct Answer:- Option-C
Question97:-Which of the following statement is incorrect?
A:-The right of private defence in no case extend to the inflicting of more harm than it is necessary to inflict
B:-There is no right of private defence in cases in which there is time to have seek the protection of public authorities
C:-The defence of consent is available in cases of consent to cause death
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D:-All the above
Correct Answer:- Option-C
Question98:-Which is the following statement is true in respect of Prison Advisory Committee for premature release constituted under Kerala Prisons
and correctional service (management) Rule 2014
A:-The Committee shall hold meetings at least once in 6 months
B:-The quorum of the meeting shall be four
C:-At least one of the members shall be among non officials members present in the quorum
D:-All of the above
Correct Answer:- Option-D
Question99:-If husband committed an offence and wife give him harbouring. In this case
A:-Wife is not liable for the offence of harbouring or concealment
B:-Wife is liable for harbouring
C:-The investigating officer has to decide
D:-None of the above
Correct Answer:- Option-A
Question100:-When there is a dispute between two courts with regard to exercise of jurisdiction in a criminal matter and said courts are under

subordination of different High Courts, the matter will be decided under section 186 of the CrPC by the
A:-Supreme Court

B:-High Court within whose local limits of appellate jurisdiction the proceeding first commenced
C:-High court of a bigger state

D:-A third High Court which is not connected with the courts in dispute

Correct Answer:- Option-B
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